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Factor each polynomia@ . W

14.
(o C ) 7 X &
14. 12x%z - 24x*z +%z3 15.
5. M—7.
15.m? + 12m — 28 Q /a/ - 11)C )
16.3p% —20p + 12 O
R o — 16
5 = «ff O Z 5 ( i/.{ 5_
17. 3x5 — 75x3 50 / r F) AR A )
- ‘2\ )
18. The area of a square is 25x2 + 70x’-F‘49 square inches. What is the length
of the side of the squ{w% s @ (ﬁ)r O 17.
5’1 _5\ / 2"“2 C/\ =
Solve each equatiogl.,/ 7 _$ /Z(/ v / L/ 18.
/ / SV 17t / &) (
19. 10y2 = 20y o y V}/*Z) =T 1.
2\
20. y2 = 13y — 42 & 2 /S =0 yr=v
V= (_/ / /37 }%{ Ve 5’ 20.
21.m reA=lom N o )f 7), =N+
*/(rﬂ +EY = o 21
( 22 Write the equation of the axis o’r“7 symmetry, and find the coordinates of the :
2., vertex of the graph of y = %% + 10x + 16. Then graph 10x + 16.
&
) (—5)= ¢ -44 =i wg i y—rS') 19 (~S)T/E 22
- 'm - //“E;C -
23. Find the value of ¢ that mal(es x? —26x + c a per fect square trinomial. /Y
- ZZ/‘-} < ~) 5)1 23.
24, State the value of the discriminant for 2x? + 5x+2=0.
i ; >z . . i :
G ffac o § = U2) ) TS —fr=g
25. Solve 5x2 + 13x = 6 by using the Quadratic Formula. Round to the nearest
tenth if necessary. V-—/“//"
St e JEEE SL /'sriwf/(s")(céf 24.
(Chapters 10-12) _ — / E-=
=8 Iy -5 /j'? /[2/—#‘ 25.
Simplify each expression. = 7"' 2 S” r/ Z O
75y*w? - - 1 26.
P e ) o :
R Y e SN T 7
n7s freling = 7oy oo
723 7.3 wg =
28.3v12 + /27 - 2v/20 28.
CIr3+373 -4/
29. (V5 — 4) (V5 + 4) ”?—‘Z’ 29,
S )& F=l
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X (x2S )x<)

(5 x+3) -

\/';)9,\/:: —Z

. Y= -5

Lo y 7oy
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(Chapters 7-9)
1. / )7/ 1

1. Express the area of the triangle as a monomial.
/ bl 0

1

2 ( 75%) (4 Lp ) DA 9

2. Slmphfyu - A

-4, -6y~2 ?/Z ,-"XM /‘Zj 7 2. ?

zn—3) — )/;7; M—’W‘L _‘;'1 j
3. Solve 5% ~2 =125, X"‘Z - /j’ 3.‘7/ f( f'JSk'ﬁ I —
‘S/X V\Zf . (:,-Z r/, ‘-p/l( L;O!d y(:!'F"fré{:C j |
29 ¥ % = 2900 R, _2Y07 or L § Xt
4. Solve (7.5 x 107°)(3.2 x 107). Write yom answer in both standard and g
scientific notation. 5 ﬁ'+r) 527( e (/ s ) J

HE LT /.US')

5. The population of Las Vegas, Nevada has been increasing at an annual rate 5.
of 5.0%. If the population of Las Vegas was 386,575 in 1998, predict its

population in 2016. 7, 3’34 7SJI{’ 2216 /P9y /F

‘FK

o

Fii C’u&[/’)

6. A new motor home costs $75,000. It is expected to depreciate 7% each year.

Find the value of the motor home in 5 years. A _ /]
7 1 Guz2(2)

7. Write an equation for the #th term of the geometr ic sequence

4, 816,32, 0 2y f&gf’L) 5. A" +])
8. Find (3¢ — 8¢+ 5) — (¢? _80—6) g,
B
Tt fe vt +6 9. 3(?—
9.Solve x(x +3)—-2=2 +x(x+ 1). f? vzx ;[/ 10. X &‘*7){ ‘r/y

Woaigeta e, SpltwH

Find each product.

11. /257 + 2 2o "/(/

% = 2

7x —/ 5
10. (x - 2)(x +9) T g //
F_ax? 15X Co V4502 »
1L 3x + 2)(4x? — 2x — 7). S 2 — 2 ,.‘5,/ Z// . / -J—?o ‘é f‘é 7
12. (4a® + b)? TRy ¢ Z/? f‘z Lg 3. ?5, Zﬂé‘g z

13. 3y + 42)(3y — 4z)
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30. Solvev3n + 1+3=7 Snx)=/¢ - 0. A5
g - B, = 15 L
b = H = . 5
il ? 1 /€S q?*‘?r:(?//
31. Determine whether side measures 7, 5, and V84 form a right tnanJg}le/ il 31.
\— T s )
Justify your answer. 71 & )6,-7} X= - \g 5 ,
i 4G +25 =X ¢ x,é;,,',,..",,:}(/r v
32, Solve/\/Sx—i-B —(x-‘-3j E— (X443 X+3) Foi! 32
SN+39 = XELCy +F
X4x-zp - © ( xp€)(x-5)=7
33. Write an inverse variation equatlon that relates x and y if y = 0.8 when x = 33.
1.8. Then find y when x = 4.8. ¢
iq9Y = t/gy y—ﬂé’)fc'f) =N {7 5)
34. Simplify M— State the excluded value(s) of x. {81 }()fﬁ)

a? +3a

(?/?L_(f j (q _ ) 34,

Find each sum, difference, product or quotient.

35y+4y+4- 9y (/ﬁ)(ykz} ? -

y ¥z —4 )5/ ...... Np
Ay S0a-2) (/{)(y ’1) 4 (Chvs)
whimeosn  (nO0) ), ey
(5 +z)(nsd) fv(».+2,)(7‘23(/7‘f?1) (=2 / ("/’"#/)
r+
37 =3 6T+ AI~~3tbr+7 -—.ﬁg_
"r-5  r-5 e 37._ /7%
38. — = 5(? “25 —524 +3 % SLEYE %o —Fsh
. (a—b)z— —p2 c:;+ " _’_
5 578 ‘ (P*Z) 38. (=L ) é’/@fé/
Fifet) 15 pioth) NEEYy (o)
39. Sc)E\fexj2 x':-3_x2 +5x~6' State any extraneous solutions. .
f Cx-0(xv3) 5 e S tf = 9. X=3
Cx=1)G 3, T2
NI C I Y st g5 s L= i -
4 ,,’E_f;—ﬁs “—Ix+H? < S b ﬁ
40. Simplify —z15—. (X LZ"’.F%(}( =3) = L&/
ey 7 = 40. ——

5 ik%)J >
Xiv om s §
(h‘“ % c?/! L) [’/(0 /J
2 Cir.. )

/
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